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For questions 1 to 24, choose the;most suntable answer and sfrade its number (1, 2, 3
or 4) on the Optical ‘Answer Sheet (OAS) provided.

1.  The table below shows the chdracteristics of X, Y and Z.

Characteristics _ X Y Z
has four legs ’ v 4
can make its own food v

needs air, food and water v | v

Which of the following, X, Y or Z, are living things?

(1) Xand Z only
(2) XandY only
(3) YandZonly
(4) X, YandZ

2. Which of the following statements about plants are correct?

: Only flowering plants produce fruits.
: Only non-flowering plants have leaves.
. Flowering plahts produce flowers when the conditions are right.

. The leaves of all plants have different sizes but similar shape. -

o O W >

(1) AandBonly
(2) Aand Conly
(3) AandD only
(4) B, CandDonly



Which of the following characteristics is generally common between insects
and birds?

(1) They reprod

(4) They have the same ty_pe of outer covering.

The diagram below shows a bird’s nest fern and bread mould.

bird’s nest fern bread mould -
seen under a microscope

Four pupil.s, Ashok, Bryan, Celia and Darmia, made the following statements.

Ashok : Both are plants.
Bryan Both reproduce from spores.
Celia . Both need air, food and water to stay alive.

Darmia : Bird’s nest fern can make its own food but bread mould cannot.

Whose statements are correct?

(1) Ashok and Bryan only

| (2) Celia and Darmia only

" (3) Ashok, Bryan and Celia only
(4) Bryan; Celia and Darmia only



Zaid placed a solid block into a tank of water and noticed that the block sank
into the water as shown below.

He cut the block into two unequal parts a"s'showﬁ below and placed them into
the same tank of water-again. ' »

Where in the tank are the parts likely to be found?

(1) ‘ (2)

(3) o (4)




12. Daniel wants to magnetise an iron bar as shown below using the stroking
method.

_—iron bar

W i hOf the following shows thé],rrect stroking method that Daniel should

Key:

Direction of |
_ | movementef

fmagnetl

" e

A

\ 4

(3) ‘ (4)

A4




15. Study the classification diagram below.

Animals
: 1
e | 1

three-stage life cycle four-stage life cycle
does r_lot has wings | lays eggs on lays eggs in
have wings : . land water

- [ [ |

A B C D |

Which of the following correctly matches the animals to the groups in the

diagram?
A B C D
(1) chicken frog butterfly grasshopper
(2) mosquito grasshopper cockroach _frog
(3) frog cockroach ‘butterfly - mosquito
(4) | grasshopper cockroach chicken butterfly
16. Four children made the following statements about the human system shown

below. ; '

Elsa . It protects the organs.

Veera > It takes air into the body.

Farhan . ltgives shape to the body..

Claudia It carries oxygen to all parts of the body.

Who made the correct statements?

(1) Elsa and Veera only
(2

(3)

AN

Elsa and Farhan only
Veera and Claudia only
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19. A, B, C and D are the various stages in the life cycle of a plant.

in which of the stage(s), A, B, C and D, can the plant make its own food?
(1) Bonly

(2) Donly

(8) Band Conly

(4) CandDonly

20. The diagram shows a communicating vessel.

\

Which of the following diagrams correctly shows the water level in the
communicating vessel after some water was poured into it?

(1) (2)

3 (4)




23. The diagram below shows the path of hght that enabled Rita to read her book
in the well-lit library.

L
What could J, K and L be?
J K L
O book Rita ceiling light
(2) . Rita - ceiling light book
(3) " book ceiling light Rita
4) ceiling light book Rita

24. Three cardboards, A, B and C, were placed in front of a torch. Cardboard A
had a star shape cut out from it and cardboard B had a circle cut out from it.
The shadow produced was captured on cardboard C.

torch«Q:Q . @ El

Which of the following shows the shadow on cardboard C?

(1)

(2)

@ ()
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For questions 25 to 35, write your answers in the spaces provided.
25, The classification chart below shows how some organisms are grouped.
Organisms
Group A Group B Group C
lizard yeast hibiscus
frog mushroom moss
a) Give a suitable heading for Group B and Group C. [2]
B:. w—
C: |
b) State how organisms in Groups A and B ;‘epmciuce 6i§ferént§y. 11




27.

Five different animals have been classified in a flowchart as shown below.

l

Animals

Does it have
hair?’

i)oes it ﬂy?

Does it have scales?

Does it have
six legs?

In the table provided, write the letter A, B, C, D, or E wh;ch best.represents
each of the followmg anlmals _ [3]

goldfish ~ bat ', “dragonfly




29. Brandon wanted to test the strength of three different magnets. He placed each
magnet 1 cm away from some iron nails and recorded the number of iron nails
each.magnet attracted. He recorded his results in the table below.

Number of iron nails attracted
| 10

He then held each magnet ori a retort s_ténd as shown in the diagram bélow.

:{}:{F meone!
}x

retort stand —+

steel paper, C|lp
strin

plastlcme

The distance X is the maximum distance that the paper clip could remain

suspended in the air from the magnet. He recorded his findings in the table
below.

a) In the table below, write the letters A, B and C to best represent Brandon’s
findings. ‘ [1]

Magnet Distance of ‘X’ (cm)

3

4

2

b) What would happen if the steel paper clip was replaced b)} a cbpper ring? [1] 4

(question continues on the next page)



30. Study the diagram below.

A

O\,isqe\j f;O'(‘g O{:{:Q"{S
a) Which letters A, B, C, D or E, represent the parts where food-is-digested? [1]

b) State the function of B. [1]

c) State the substance that will pass into the bloodstream in E. [1]




32. Peiyu had three measuring cylinders. She poured equal amount of water into
each cylin_der. She then placed some blocks into the cylinders as shown below.

55 ml
40 m

Peiyu made some observations as shown in the table below. Study-the
diagram above and indicate whether each of the statements is True, False or

Not possible to tell. Put a tick (v") in the correct box. [31]
Not
Statements True False possible
to tell

(a) { The volume of block Y is 15 ml.

the volume of block X.

(b) | The volume of block Y is less than |.

than block Z.

(c) | The volume of block X is greater




34. Fandi placed a funnel over the opening of a flask. When he tried to pour water
‘into the flask through the funnel, he observed most of the water in the funnel
could not flow into the flask as shown below.

funnel

a) - Give a reason why the water in the funnel could not flow into the ﬂé’sk. 1]

b) When Fandi lifted up the funnel as shown below, he observed that all the water
in the funnel flowed into the flask. :

funnel

Give a reason for his observation. | N [1]
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25) a) B: Fungi
C: plants
b) Organisms in group A reprodute by laying eggs while organisms in
group B reproduce by spores.
.- 26) a) Group X . .

b) The plant in grou‘p Y has a strong stem but the plant in group X has a
weak steam.

c) The plant in group Y has flowers that grow singly while the plant in
group Z has flowers that grow in cluster.


Answer Key


33) a) Insect A: Adult
Insect B: nymph

b) Diff 1: The insect has a 3-stage life cycle but the beetle has a 4-stage
life cycle.

Diff 2: The young of the insect looks like its adult but the young of the
beetle does not look like its adult.

34) a) Air is occupying space in the flask.

b) Air in the flask could escape through the opening into the
surroundings, so water could enter to occupy the space.

35) a) Screen R: frosted glass
Screen C: clear plastic

b) Material S. It allows the most light to pass through it.






27) Goldfish: C  Bat: A  Dragonfly: D
28) a) Material P
b) Reason 1: Only materials P and S are waterproof.
Reason 2: P is lighter than S
29)a)C
A
B

b) The copper ring would not be attracted to the magnet as it is a non-
magnetic material.

ok J L
d) The size of a magnet does not affect its strength.
30)a)A, D, E
b) itisto rerhove water from undigested food.
c) Digested food
31) é) Object A: rectangular
Object B: Circular

b) There will only be rectangular and circular shadows. The square
shadow would not be seen. '

32)a) True b) Not possible to tell c) False

-



35. Jason was asked to conduct an expe'rfmenfto fina out how 'much light can pass
through three different screens. He placed a torch on one side of the screen
and a light sensor on the other side.

light sensor
ted T} torch
connected to ’\,_,——!
a data logger D:

screen

The results obtained from the light sensor were recorded in the table below.

Amount of light (units)
~without screen 580
screen R 220
screen S 500
screen T 70

a) Using the list below, write down the material that the screens coul.c_l-abe made of.

121

car_dboard clear plastic e frosted glass

Screen R:

4 Scfeen S:

b) Based on the data above, which materia'l, R,SorT, _i?vould be most suitable for
‘the part marked Y below? Give a reason for your answer. [1]

spectacles

End of Seéiioﬁ B

Ceothyvy = ‘Me Maolicea Tan Mdm Lalmicena Me Inveae Tan




33. Kumarah went to the school garden and came across insect A and insect B. He
~took pictures of them and pasted them in his notebook, as shown below.

Insect A Insect B

He then asked his Scnence teacher about lnsect A and msect B and his teacher ‘
told him that they are the ‘same: msects but in different stages:. o

a) Name the stage of life cycle that insect A and insect B is in. [1]
Insect A :
InsectB :

b)

Kumarah also found some beetles in the school garden.

State two differences between the life cycles of the beetle and the insect that he
researched in part (a). ' . A B 12]

Difference 1:

Difference 2:




31. The set-up below shows light shining on three wooden objects A, B and C. They
are placed at different distance from the torch.

screen

The diagram below shows the shadow of the objects on the screen.

rectangular shadow .

square shadow

circular shadow

a) What are the shapes of objects A and B? (1]
Object A is in shapga.
Object B is ' in shabe,

b). Predict what will be observed on the screen if object C is changeduinto an object
of the same shape but made of clear glass. [11]




c)' |

d)

Brandon wanted to know if {he size of a magnetfwould affect its strength. He
conducted his experiment with three other magnets as shown below.

i[_‘ ‘

J

He placed each magnet 1 cm away from the same iron nails andrecorded the

number of iroh nails each magnet attracted. He recordeéd his results in the table
below.

- Magnet -~ - 'Number of iron nails attracted -
J 7 ‘
K 13
- L 2
Arrange the three magnets according fo their strength, starting from the
strongest. [1]
strongest —_—> weakest

From his experiment, what can Brandon tell about the size of the magnet and
strength of the magnet? ‘ | 111




Materials P, Q, R and S.of the same size and thickness were weighed before

they were each placed in feur bucketg of water. After ten minutes, each material

was removed from the bucket and weighed again. The results were recorded in
the table below.

S ten minutes (g
P 80 8o

Q 75 150

R 260 370

s 400 . = 400

Which material, P, Q, R or S, is most suitable for making a lightweight raincoat?

[1]

State two reasons for your answer in (a). A [2]

Reason 1:

Réason 2:




28. Study the classification diagram below.

Plants
l _
] i

weak stemn strong stem
' 1
1 ' E BN

flowers that flowers that

grow singly grow in a cluster

a) Which group X, Y or Z does the morning glory plant belong to? [1]

b) From the classification diagram, state a difference between the plant in group X
and the plantin group Y. [11

-

¢)  From the classification diagram, state a difference between the plant in group Y
and the plant In droup Z. [1]







21. John set up an experiment to find out the property of air. When John pushed

the plunger of the syringe, the plunger could be pushed in easily as shown
below.

" after pushing
‘the:pluniger
_—
plunger '
air ——|
syringe
_stopper

John then replaced the air with water but the plunger could not go down when
he pushed the plunger.

- Which of the following is a possible explanation for his observation?

(1) The mass of the air changes.

(2) Water takes up space but air does not.
(3) Air can be compressed but water cannot.
(4) Air has definite shape but water does not.

22. Aihua conducted an experiment as shown in the diagram below. She looked
through the cardboards to see if she could see the light from the candle.” She

realised that she could see the light from the candle in set-up A but not set-up
B. ’

lll>ﬂ§ “ -O —-O..“ : %

set-up A set-up B

What is the aim of the experiment?
It is to show that light '

(1) travelsin a straight line.
(2) can be detected by our eyes.
(3) can be blocked by cardboard.

(4) can pass through any hole no matter big or small.



17. The diagram below shows the life cycle of an insect.

18.

X

V,v\ |

Which of the fol!owmg correctly matches the stage of the life cycle as shown

D

. ~above?
w X Y A
(1) adult pupa larva egg
(2) pupa adult _eqgg larva
(3) larva egg ' - adult pupa
(4) pupa- larva egg adult

Tracy carried out an experiment on the germination of seeds using two
set-ups, A and B, as shown below.

clear glass tank covered

seeds clear glass tank with black paper

N /

damp cotton wool “
set-up A ' set-up B

After a few days, seeds in both set-ups germinated.
What was Tracy trying-to find out from her experiment?

She was trying to find out if lis/are needed in
her experiment. :

(1) light

(2) water

(3) light and water
(4) air and light



13. Siti removed the roots of a plant and planted it back into the pot of soil as
shown below.

soil

After a few days, the plant died because it needed roots to

(1) make food

(2) take in oxygen

(3) take in food from the soil
(4) take in water from the soil

14. Ming Yue lowered an empty glass with a ping pong ball into a basin of water
until it touched the bottom of the basin.

She observed that the water level inside the glass was not the same as the
water level outside. The ping pong ball still floated on the water as shown
below.

-empty glass

= = = ping pong ball

basin with water

What could be the main reason for the dlfference in the water level inside and
outside of the glass?

(1) The ping pong ball occupies space.

(2) The air trapped in-the gléss occupies space.

(3) The air trapped in the glass dissolved in the water.

(4) The ping pong ball pushed the water out from the glass.



10. Aini has four magnets .

11.

The diagram below shows how the magnets moved when she placed two of
the magnets near each other. '

She repeated her experiment with the other two magnets. Her observation is

'shiown below. -

A

Y

. Y .- '.Z_ 1 N

Which of the following correctly represents the poles W, X, Y and Z7?

w X Y . Zz
(1) South South. North South
(2) South North South - North
(3) North South South South
(4) North North North North

Thomas sets up an electromagnet as shown below.

_ battery

—

iron rod:

Which of the following can he do to increase the strength of the
electromagnet?

A’ : Change the iron rod to an alunﬁin}u;rl rod
B : Increase the number of batteries
C : Increase the number of coils around the iron rod

(1) Aand B only

(2) Aand Conly
" (3) BandConly

(A A RandC



The table below shows how some objects are classified according to the
materials they are made of.

Objects
m; made of Z
: e
toilet roll eraser

What do materials X, Y and Z represent?

X Y z

(1) | ‘paper- rubber - “metal

(2) plastic fabric ' paper -

(3) : metal paper rubber

(4) metal fabric paper

. , |
Xiuzhen had an object. When she brought a magnet towards th\em she -~
found that the object could be attracted to the magnet. What metal could the

object be made of?

(1) iron
(2) gold
(3) silver

(4) copper

BRI RN 20 et "’,:T""_":':i



3.

Study the classification table below.

Fruits

rough skin _

smooth skin

| .oneseed

many seeds

(1 p
2) Q
) R
4) S

Study the classification diagram below.

Animals

I

" Which of the following 'letters',-P, Q,R, orS, represents the above fruit?

birds

mammals

l

live on land

cannot fly l can fly live in water
l 1 l ]
L M N O

Which of the following letters, L, M, N or O, represents a penguin in the

classification diagram?

(1) L
(2. M
(3 N

@ o




